H & 0l & AHS B Ml A

LB i ISt

N
S
a1
i
H
g
=2
z
o

>
9
O
1o
J
>
>
=
[>
=
0k

Hm: Jj=0|
Sl 01O AMBIEG] A3 (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
G&ItEL 28,751,970 29,890,405 1,138,435
= 11,858,171
Jl 1,395,456
= 3,070,558
Al 12,427,785
=0l &Jl E2 SAMHIA HS 28,447,352 29,599,373 1,152,021
= 11,858,171
) 1,395,456
= 2,99%,758
Al 12,196,967
HEel AlRIEN gdat 103,8% 149,671 N5, 776
= 8,820
Al 95,075
GESESESEPNE 7,905 10,481 2,576
201 er2 3| 2,320 2,900 2580
01 AtR2te|HI 2,320 2,900 A580
O8ESAEe 29 HH==H
1,920,000& 1,920
OdE3aEIIRIAS 29 AAd
100,000& x4 & *12] 400
203 HR=H| 5,585 7,581 A1,9%
03 A= L2 FAIH| 5,585 7,581 1,99
o0y - U2t gf=d 5,585,000& 5,585
HeZ Al &4 87,170 109,790 N22,620
201 fet= 3| 85,670 104,790 19,120
01 AtR2tc|HI 85,670 101,790 16,120
Oty FoIEH22s 22 - 29
84,000,000 84,000
OJIEZ IS HAS A
550,000 550
OWdalat=Al ZEEN 20 o+
1,120,000& 1,120
301 Eet2 NS 1,500 5,000 A3,500
11 #AIAHIXIE S 1,500 5,000 A3,500
OWHEZSIEAl =4 AMRIFHE &34l A
& 10,0003 %50 *32] 1,500
YR E=AtE 8,820 29,400 20,580
= 8,820
301 Eet2 NS 8,820 29,400 A20,580
== 8,820
02 ARSI X LGS (FHAAHS, NSWE) 8,820 29,400 A20,580
O g1+ CHEINIIAl ESA
8,820,000& 8,820
=S 8,820




SN OEIIED
3 IR0 D] E2 SAAMEIA MS
el 0ld & 3ad =Xsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
e & A4 =X35d 5,905,478 5,725,690 179,788
PHALEAETHE EAZ 5,905,478 5,725,690 179,788
306 £= 5,905,478 5,725,690 179,788
01 2d= 5,905,478 5,725,690 179,788
ORHOLHAEE 2 5012
5,905,478,000& 5,905,478
Hd=XAIE K& 1,066,805 1,412,073 A345,268
== 253,440
Al 813,365
GESSIED] Al R 224,815 289,800 A64,985
[ 86,940
Al 137,875
307 glztol & 224,815 289,800 A64,985
= 86,940
Al 137,875
10 Al SXAAEEHE2EHI2x 224,815 289,800 64,985
OogelgEady 29 X3
224,815,000 224,815
= 86,940
Al 137,875
FEER Hd FHXE 270,900 315,000 44,100
< 94,500
Al 176,400
307 elztol & 270,900 315,000 N44,100
= 94,500
Al 176,400
11 AMEISXAEEE 270,900 315,000 A44,100
OZHEERNY Lg= FHENE
126,000,000 126,000
= 37,800
Al 88,200
Onstg - = ZHE[0E FEX2
18,900,000 18,900
< 18,900
Os - &3 0d HBXE
126,000,000 126,000
[ 37,800
Al 88,200
2 - SXdH 22 499,090 567,273 A\58,183
307 elztol & 499,090 566,573 A\b7,483
05 21t =S 499,090 566,573 N\57,483
Oog - ZANZdyH 28X
499,090,000 499,090
2 - dE D K3 72,000 250,000 A178,000




2A:
X XH -
o e

=aak

OlaEIIED
JIE0l 40| E2 =SXAMHIA MBS
GlEEXIAE X

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 72,000
307 gl2tol & 72,000 250,000 /178,000
=S 72,000
02 2B YA E X 72,000 250,000 /178,000
Od - dg 28 N
72,000,000& 72,000
= 72,000
HEMZLoIHE 2 714,600 649,439 65,161
= 457,160
== 123,200
Al 134,240
MUY XE2S(FYaEA 29) 269,424 263,760 5,664
= 134,712
=S 67,356
Al 67,356
307 @I2to| & 269,424 263,760 5,664
= 134,712
= 67,356
Al 67,3%
11 AMEISXAIEEXS 269,424 263,760 5,664
OF gatg At 212t] 269,424,000 269,424
= 134,712
= 67,356
Al 67,356
NLHE XIE29(4u23) 14,628 14,629 A
= 7,314
= 3,657
Al 3,657
307 elztol & 14,628 14,629 A
= 7,314
< 3,657
Al 3,657
11 AMEISXIAEEES 14,628 14,629 A
OMZHE o=l 14,628,000 14,628
= 7,314
== 3,657
Al 3,657
MHE XE2F (Arg2eldl) 21,000 12,000 9,000
= 10,500
== 5,250
Al 5,250
307 212+01& 21,000 12,000 9,000
= 10,500




SN OIEIIED
M IR0 D] E2 SAAMEIA MS
Rl HEMZoINE 282 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 5,250
Al 5,250
11 AMEISXAEEES 21,000 12,000 9,000
OMEZHIE A2l 21,000,000 21,000
= 10,500
< 5,250
Al 5,250
MLEH X2 (MLod EH 29) 216,200 178,600 37,600
= 172,960
== 21,620
Al 21,620
307 212+01& 216,200 178,600 37,600
= 172,960
=S 21,620
Al 21,620
1 AMISXAEEX 216,200 178,600 37,600
OMeod IEX 29
216,200,000 216,200
= 172,960
S 21,620
Al 21,620
NMEH X2 (HPusE S2AHY) 97,600 94,000 3,600
= 97,600
307 el2to| & 97,600 94,000 3,600
= 97,600
11 AMEISXAEEES 97,600 94,000 3,600
OZEHENY MPus2dd N3
97,600,000& 97,600
= 97,600
MUY XE2S(ZASEMLXE AZHI) 68,148 58,850 9,298
= 34,074
== 17,037
Al 17,037
307 212+01™ 68,148 58,850 9,298
= 34,074
= 17,037
Al 17,037
1 AMISXAIEEXE 68,148 58,850 9,298
O3HEHE WYXE At
68,148,000 68,148
= 34,074
= 17,037
Al 17,037
NLHE X2 (EARE MAHLH]) 27,600 27,600 0




SN OIEIIED
M IR0 D] E2 SAAMEIA MS
Col: MR LSIIME 29 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 8,280
Al 19,320
307 lztol & 27,600 27,600 0
= 8,280
Al 19,320
11 AMEISXAIEEXS 27,600 27,600 0
OMZHE SAHAH EA XIS
27,600,000 27,600
=S 8,280
Al 19,320
Hdze s 1,448,703 1,605,118 N156,415
= 22,500
) 562,237
= 350,689
Al 513,277
S3J12 40 =5 HTUs 3,200 6,200 3,000
201 Ler23| 3,200 6,200 A3,000
01 At2teltl 3,200 6,200 A3,000
ORI 40Ze(S31= - H0H0H - H=e -
=) YRS 800,000 %42 3,200
H35 - 4= DSHRIRE 2 800 1,200 A400
201 et 3| 800 1,200 A400
01 AtR2tc|Hl 800 1,200 A400
Od3ls - 458 Nsdofds 22=g
100,000 4 & »23] 800
318 - 4= EREAYY 29 480 1,200 AT
301 LEtE NS 480 1,200 NT20
14 IIEt2d3 480 1,200 AT20
OE=RdeaH & ARH=2I IEHEE
A2eg 480,000 480
MASOIEZHIICHA ESAIE) 25,000 25,000 0
= 22,500
= 1,750
Al 750
301 LEtE N = 25,000 25,000 0
= 22,500
= 1,750
Al 750
01 ARIE2EHSFS(RRNEERTHE) 25,000 25,000 0
OJIE =Sk 25 A4 dAHSH
25,000,000& 25,000
= 22,500
< 1,750
Al 750




A HAIED
3 JIE0| AD] £2 SAIMHIA JH3
el olday 4 (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Hd=ZHUIoHA ES K& 6,091 6,300 A209
& 2,121
Al 3,970
307 212+01™ 6,091 6,300 A209
& 2,121
Al 3,970
11 Al =SXAMEES 6,091 6,300 2209
OE =Sl A ESKI&
6,091,000& 6,091
T 2,121
Al 3,970
Hd=ZHoHA ESAE 298 K& 276,441 272,233 4,208
| 161,503
& 34,608
Al 80,330
201 Let23H| 640 800 A 160
01 AtR2elt] 640 800 2160
OJIE =S TIoH At XAEXJAS A48 AR
=g 640,000& 640
301 LPENZ 24,250 20,000 4,250
| 17,500
= 3,750
Al 3,000
01 Al B&XHZ2(2REETR) 24,250 20,000 4,250
OJEZEoi A BEsAd 89 XS (ElA
Al TEXE2) 24,250,000 24,250
| 17,500
= 3,750
Al 3,000
307 212+01 A 251,551 251,433 118
| 144,003
= 30,858
Al 76,690
05 2IZtRES 251,551 251,433 118
O =ZSTIoi At BESAE 29 X
201,261,000& 201,261
| 144,003
= 30,858
Al 26,400
OJEZEol At EsAd 89 X (Al
=oh 50,290,000& 50,290
HFZHINA ESAE 29 XA (B2 M3HHI) 13,500 7,817 5,683
J| 9,450
& 2,025




SN OEIIED
3 IR0 D] E2 SAAMEIA MS
=t ogde & EEED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 2,025
307 gl2tol & 13,500 7,817 5,683
Il 9,450
= 2,025
Al 2,025
11 AMEISXAIEEXS 13,500 7,817 5,683
ONEHZHWANR 2SAIL HISS X A
A& 13,500,000 13,500
Jl 9,450
= 2,025
Al 2,025
IHEZHTHAL ESAIE 28 N3 (HLE=H]) 2,445 2,445 0
) 1,713
= 366
Al 366
307 2I2t0| & 2,445 2,445 0
Jl 1,713
< 366
Al 366
11 AMEISXAEEES 2,445 2,445 0
ONEZAMBN ESAE 22 N (K
=gdl) 2,445,000 2,445
Jl 1,713
S 366
Al 366
IR EZEIIHA 23A4 22 XF(0IsEY) 15,000 20,000 25,000
Jl 10,000
< 5,000
307 el2tol & 15,000 20,000 /5,000
) 10,000
& 5,000
11 AMEISXAEEXS 15,000 20,000 25,000
ONEZATST 2BAL JISH2Y)
15,000,000& 15,000
Jl 10,000
= 5,000
JHEZ=E oA 2l=H| X~ 10,500 12,450 21,950
Il 7,700
== 1,650
Al 1,180
301 22N = 1,000 1,000 0
2l 700
= 150
Al 150




SN OIEIIED
M JIE0| )] E2 SAAMHIA JMZB
=t ogde & EEED
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
01 Al B& XS Z2(2REETA) 1,000 1,000 0
OJrE =41l At 2lZ2H| XA
1,000,000& 1,000
| 700
= 150
Al 150
307 212+01 A 9,500 11,450 21,950
| 7,000
= 1,500
Al 1,000
11 AL SXAMEEER 9,500 11,450 21,950
OJME =S TloH At 2EAM ol=H| K&
9,500,000& 9,500
| 7,000
= 1,500
Al 1,000
NE=ZSTIHA K= 3= T2 29 24,593 26,919 N2,326
| 18,606
= 3,987
Al 2,000
307 2I2+01A 24,593 26,919 N2,326
| 18,606
= 3,987
Al 2,000
11 AMSISXAEEX 24,593 26,919 N2,326
ONFBAWMA XB - 5= TR 2
24,593,000& 24,593
| 18,606
= 3,987
Al 2,000
Ny=LN4ELS 29 373,767 395,970 A22,203
| 189,782
& A,8%2
Al 89,093
307 gI2Hol 373,767 395,970 A22,203
| 189,782
& A,8R
Al 89,093
10 AlRISEXAEHE2EHIEX 373,767 395,970 A22,203
OJIE=daga 29 373,767 ,000& 373,767
| 189,782
& HA,8R
Al 89,093
AZANIHA l=dl XA 10,000 82,650 AT2,650




S GEIIED
3 JIE0| AD] £2 SAIMHIA JH3
o9l olgze 52 LR
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
| 7,000
T 1,500
Al 1,500
307 212+01™ 10,000 82,150 A72,150
| 7,000
& 1,500
Al 1,500
M2 =XAHE 2 10,000 82,150 AT72,150
OMZATHN NBAIL A=Y X2
10,000,000& 10,000
| 7,000
& 1,500
Al 1,500
SZHETGHAL XIE - 3l= Z208 29 9,455 18,710 A9,255
| 6,597
& 1,429
Al 1,429
307 212+01™ 9,455 18,710 A9,255
J| 6,597
T 1,429
Al 1,429
11 AR SXAMEER 9,455 18,710 A9,255
O4d=ZgIloixt g - 35 T2 29
9,455,000 9,455
J| 6,597
= 1,429
Al 1,429
SHESAMHES 2Y 283,739 284,044 4,695
J| 149,886
= 74,943
Al 63,910
307 2I2+01A 288,739 284,044 4,695
| 149,886
T 74,943
Al 63,910
10 IS SXAIEHE2ZHIEX 288,739 284,044 4,695
Od=gagLs 29 283,739,000& 288,739
| 149,886
T 74,943
Al 63,910
SR =T WS 22,500 45,000 A22,500
= 7,500
Al 15,000




2A:

3 IR0 D] E2 SAAMEIA MS
el olday 4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 22,500 45,000 22,500
= 7,500
Al 15,000
11 AMEISXAIEEXS 22,500 45,000 A22,500
SOl 550 WS
22,500,000 22,500
=S 7,500
Al 15,000
=5 XAde 23 2,000 7,000 ~5,000
201 =3 2,000 7,000 25,000
01 At22t2ltl 2,000 7,000 25,000
ONEZALIARNE 2
2,000,000& 2,000
e ZHIIGHA XIZAIE SAHA el2i8] X2 300,842 300,842 0
= 90,253
Al 210,589
307 @120l & 300,842 300,842 0
=S 90,253
Al 210,589
11 ARRIS XA E X 300,842 300,842 0
O Y Z=TIcHA XAAE SALAH 12|
A& 300,842,000 300,842
< 90,253
Al 210,589
HEZAANE XIZ(BAX S=2R+E) 25,800 25,800 0
= 7,740
Al 18,060
301 EtE NS 25,800 25,800 0
=S 7,740
Al 18,060
02 ANRI2HHSFS(HAAS, NLHE) 25,800 25,800 0
OGN BSAE BAX S422
=g 15,000,000 15,000
< 4,500
Al 10,500
ONHE2MGA BN S4224Y
6,000,000& 6,000
= 1,800
Al 4,200
OMZANEAL BAX SH224E
4,800,000 4,800
== 1,440
Al 3,360
OERAAE X (BSAKE HRIHEH]) 13,800 13,800 0




2A: HAIE
3 JIE0| AD] £2 SAIMHIA JH3
=t ogde & EEED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 13,800
301 LPBNF 13,800 13,800 0
T 13,800
02 MBI EEAGS(HAUAS, XLTHEA) 13,800 13,800 0
ONHZLWAESAL SAK M
af 3,000,000& 3,000
& 3,000
OIS =S A A SAHA MR A
6,000,000& 6,000
= 6,000
OSZNTL BAK HLHAY|
4,800,000 4,800
& 4,800
NEEY 4= 33U3 A 25 2GR 17,750 21,133 A3,383
= 5,325
Al 12,425
201 LB-2AH| 15,750 17,533 A1,783
& 4,725
Al 11,025
01 At=R2teld| 15,000 16,033 1,033
Ott25|2g J123H| 15,000,000& 15,000
& 4,500
Al 10,500
2 S=29| 750 1,500 AT50
OtIZ23|YE 2323 S 750,000& 750
= 225
Al 525
202 bl 2,000 3,600 21,600
& 600
Al 1,400
01 =LHO4b]| 2,000 3,600 A1,600
OBI23%E 2U0it|
33,3333 x5« 123 2,000
T 600
Al 1,400
IHEES 428 Z=slE Lok K& 6,000 5,000 1,000
= 1,800
Al 4,200
301 LPENZ 6,000 5,000 1,000
& 1,800
Al 4,200
02 NS EZASHS(HUAS, XLTHA) 6,000 5,000 1,000
OHt235|2E! Toh A K& A
6,000,000& 6,000

_11_




A o&IED

3 IR0 D] E2 SAAMEIA MS
=t ogde & EEED
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
< 1,800
Al 4,200
226t d=st OIENE MHlA MBS 16,524,525 17,065,156 540,631
= 11,265,111
Il 134,559
= 1,970,375
Al 3,154,480
AZIEEXNEHEH =g 446,250 472,500 126,250
== 69,510
Al 376,740
201 223 700 0 700
01 AtR2t2lt] 700 0 700
OALIIENAME DIZSE MolPIRs| &
S=g 100,000& *7 =12 700
307 212t01™ 445,550 472,500 N26,950
= 69,510
Al 376,040
05 glzt?(&= 445,550 472,500 N26,950
OHLINEXAME 2
231,700,000 231,700
== 69,510
Al 162,190
OHAIEXNYHEH 2F (AlIHIFI)
213,850,000 213,850
=2tE 2SAE 180,195 147,760 2,435
Il 76,315
Al 73,880
307 @20l & 150,195 147,760 2,435
Jl 76,315
Al 73,880
11 ARIEXAIEE X 150,195 147,760 2,435
o2& EsSAY 150, 195,000& 150,195
Il 76,315
Al 73,880
AUNEXNZHE SAAL S=228 22,800 22,800 0
= 6,840
Al 15,960
301 LeEN= 22,800 22,800 0
= 6,840
Al 15,960
02 A EE A S(FANE, XLETHE) 22,800 22,800 0
OALINZNAME BAR S4224
100,000 x19E «12& 22,800
[ 6,840




SN OIEIIED
3 IR0 D] E2 SAAMEIA MS
ChSl: 2A2BHD #=a IEX MHIA HZ (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 15,960
IS XN HE SALAE X< IHAHI 11,400 11,400 0
== 11,400
301 EtE N = 11,400 11,400 0
= 11,400
02 MBI 2HHSFHS(HAANS, XLHE) 11,400 11,400 0
OAZIINAME SALAE XM
50,0002 x19E «12& 11,400
= 11,400
ools=s X& 7,8%,521 7,214,953 681,568
= 5,694,111
=S 1,220,167
Al 982,243
307 21201 & 7,8%,521 7,214,953 681,568
= 5,694,111
= 1,220,167
Al 982,243
1 AMISXAIEEXS 7,8%,521 7,214,953 681,568
O0I0I=8 XA 7,896,521,000& 7,8%,521
= 5,694,111
= 1,220,167
Al 982,243
CHAHAOHE OI0lESAHIA I 100,000 198,000 98,000
307 @120l & 100,000 198,000 98,000
1 AMISXAIEEX 100,000 198,000 98,000
OURIEIIE 0l0ISZAHIA X2l
100,000,000& 100,000
OlOIZ 20| SZ0eEESHl N& 6,600 6,600 0
& 1,980
Al 4,620
307 lztol & 6,600 6,600 0
= 1,980
Al 4,620
1 AMEISXAIEEES 6,600 6,600 0
OO0l0I=201 SZ0egE Sl NE
30,0003 +220H 6,600
=S 1,980
Al 4,620
Ol0I=20I Sot==+¢ 65,200 65,200 0
< 19,560
Al 45,640
307 glztol & 65,200 65,200 0
= 19,560




SN OIEIIED
3 IR0 D] E2 SAAMEIA MS
ChSl: 2A2BHD #=a IEX MHIA HZ (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 45,640
11 ABI= XA 2 X 65,200 65,200 0
OO0l0IE20] ZotEB+S
65,200,000 65,200
== 19,560
Al 45,640
101047 X2 A 17,100 57,000 39,900
= 17,100
307 @I2to| & 17,100 57,000 39,900
== 17,100
11 AMEISXAIEEXS 17,100 57,000 39,900
O120t X2 A 17,100,000 17,100
= 17,100
AR EH A oA KIRIALS 3,000 10,000 A7,000
= 3,000
307 @I2t01 & 3,000 10,000 AT7,000
< 3,000
1 AMEISXAIEEXS 3,000 10,000 AT7,000
OJAMAERIA Gl KIRALS
3,000,000 3,000
s 3,000
=et OtE ZZ2 ) 3,000 10,000 /7,000
= 3,000
307 elztol & 3,000 10,000 AT7,000
= 3,000
1 AMISXAIEEX 3,000 10,000 A7,000
O#=3 JE Z2OH 2
3,000,000& 3,000
[ 3,000
HIUH0ISH NFA 7,428,000 8,407,000 A979,000
= 5,571,000
= 557,100
Al 1,299,900
301 EtE N = 7,428,000 8,407,000 /979,000
= 5,571,000
& 557,100
Al 1,299,900
01 A2 HSHS(RNEERTHE) 7,428,000 8,407,000 /979,000
OHLg0I8A X3 AL
7,428,000,000& 7,428,000
= 5,571,000
< 567,100
Al 1,299,900
SMNES Ns 205,000 252,000 247,000




SN OIEIIED
3 IR0 D] E2 SAAMEIA MS
ChSl: 2A2BHD #=a IEX MHIA HZ (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 205,000 252,000 247,000
02 A2 EH 2GS (FHAAHS, XNLWE) 205,000 252,000 247,000
O&EMXE= XNs 205,000,000 205,000
FIIF0LlsH K& 58,534 72,519 13,985
= 19,947
Al 38,587
307 @I2to| & 58,534 72,519 13,985
== 19,947
Al 38,587
11 AMRISXAEEES 58,534 72,519 213,985
OZJI=0lL=H 29 52,529,000 52,529
< 19,947
Al 32,582
OsUEg S0tUsH Sxtz
6,004,530& 6,005
SSF0tU=E X 110,925 113,424 A2,499
Il 58,244
= 40,771
Al 11,910
307 el2to| & 110,925 113,424 N2,499
) 58,244
S 40,771
Al 11,910
11 AMEISXAEEES 110,925 113,424 A2,499
OZ=s=0lL=H 29 110,925,000 110,925
Jl 58,244
& 40,771
Al 11,910
SIREIISE=RIAIE K& 614,349 645,958 A31,609
= 113,400
7l 18,470
= 90,805
Al 391,674
MAZ O (EIR2IE SKIAE) 126,000 109,000 17,000
= 113,400
= 8,820
Al 3,780
301 EtE N = 126,000 109,000 17,000
= 113,400
< 8,820
Al 3,780
01 A2 HSHS(RNEERTH) 126,000 109,000 17,000




SN OIEIIED
3 IR0 D] E2 SAAMEIA MS
el SR2IIESIIAE X2 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OS2 DIIE=TAE AAK AHHZ0]
126,000,000& 126,000
= 113,400
[ 8,820
Al 3,780
ANE 2T 4 - X2 N (B2 SXAE) 6,623 6,890 267
Jl 3,470
& 2,429
Al 724
307 glztol & 6,623 6,890 N2B7
Il 3,470
s 2,429
Al 724
11 AMRISXAEES 6,623 6,890 N2B7
OB=RISEXAL YAK &S - XE X
& 6.,623,000& 6.623
Il 3,470
=S 2,429
Al 724
SHRRIIE SXAE K& 29,617 30,943 A1,326
< 9,283
Al 20,334
301 EtE NS 12,000 12,000 0
= 3,600
Al 8,400
02 AR 2HASFS(HAAS, XLHE) 12,000 12,000 0
OBSDINERTIAIL SAX S4224E
12,000,000 12,000
=S 3,600
Al 8,400
307 212+01& 17,617 18,943 A1,326
< 5,683
Al 11,934
10 Al SXAEEHE2EHI2x 17,617 18,943 1,326
OBERIE=TAL 2% Xe
17,617,000& 17,617
= 5,683
Al 11,934
SIREIEEXNANE NEAES 49,500 60,000 10,500
== 18,000
Al 31,500
301 22N = 49,500 60,000 10,500
[ 18,000
Al 31,500




2A:
X XH -
o e

=aak

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 MBI 2HHSFHS(HAANS, XLHE) 49,500 60,000 10,500
OtRRIIE=SAAE ElAI MEs K2
49,500,000& 49,500
= 18,000
Al 31,500
SRR SXIAE 2H(QAHIS) 376,106 411,722 A35,616
== 41,173
Al 334,933
307 212+01& 376,106 4,722 N35,616
< 41,173
Al 334,933
10 Al2IS XA EEE 22X 376,106 411,722 N35,616
OBRL2IE=EXNAIL 1244l S
376,106,000& 376,106
= 41,173
Al 334,933
SRS SXAE SAHA XML 3,000 3,000 0
== 3,000
301 EtE N = 3,000 3,000 0
= 3,000
02 ARI2HHHS(FHAAS, NLHE) 3,000 3,000 0
OBERINE=TAIL BAR HSIHAY|
3,000,000& 3,000
= 3,000
AEO0IES KJAMG (BHR2IIE SXIAIE) 8,203 6,403 1,800
Jl 6,000
= 1,800
Al 403
307 @120l & 8,203 6,403 1,800
Il 6,000
= 1,800
Al 403
1 AMEISXAEEXS 8,203 6,403 1,800
OB=DIE=TAL OIS AHIA [
8,203,000 8,203
Il 6,000
= 1,800
Al 403
ANE JISELXNE(BRLIESRAE) 16,300 18,000 A2,700
Il 9,000
= 6,300
307 21201 & 15,300 18,000 A2,700
Jl 9,000
= 6,300




SN OEIIED
M JIE0| )] E2 SAAMHIA JMZB
el SR2IEISXAIE X (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
11 ABI= XA X 15,300 18,000 A2,700
OB RIIEZTIAL Js2SLX
15,300,000& 15,300
| 9,000
= 6,300
C23tE NG Ate] 28 K& 1,649,439 1,900,843 A251,404
| 680,190
& 150,129
Al 819,120
Ct28tEXIJEEH 22 388,263 394,270 26,007
J| 132,320
& 19,849
Al 236,094
307 212+01 A 388,263 3%4,270 26,007
| 132,320
= 19,849
Al 236,094
05 QIZtRES 388,263 394,270 26,007
OCrZetsXI2HEH 28 X2
219,500,000& 219,500
| 109,750
= 16,463
Al 93,287
OUZEIEX2HE 29 XA (AIHIZF=I)
114,994,000& 114,994
OU2etnF - 2532t 2EXE
45,140,000& 45,140
| 22,570
& 3,386
Al 19,184
OUIstuF - A=532F 2GR (AIHIFI)
8,629,000& 8,629
Ct22tE X4 A& 547,340 578,785 A31,445
| 309,370
= 46,405
Al 191,565
307 gI2tol ™ 547,340 578,785 A31,445
| 309,370
& 46,405
Al 191,565
05 QIZIRIErZ 547,340 578,785 A31,445
OU=Rst=E Tid K& A
547,340,000& 547,340
| 309,370




2A:
X XH -
o e

=aak

(2Pl =)
JEER0l &) E2 SXAEIA HE
Cr2aE XgAlel B XE

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 46,406
Al 191,565
ZE012A MPEe T2 52,000 65,250 13,250
Jl 26,000
< 3,900
Al 22,100
307 lztol & 52,000 65,250 A13,250
Il 26,000
== 3,900
Al 22,100
05 2ItRIE= 52,000 65,250 13,250
OZEOIRIN HEH T2
52,000,000 52,000
Il 26,000
== 3,900
Al 22,100
21 ESAM(LES) 93,576 89,301 4,275
Jl 38,500
s 5,775
Al 49,301
307 @I2t01 & 93,576 89,301 4,275
7l 38,500
= 5,775
Al 49,301
05 212+ =S 93,576 89,301 4,275
o211 2sA (23t
77,000,000 77,000
Jl 38,500
= 5,775
Al 32,725
O20t= 2SA(LH23t, AlEIFIH
16,576,000& 16,576
CtEshts St 373,564 499,701 A126,137
Il 161,750
== 24,260
Al 187,554
307 212+01& 373,564 499,701 A126,137
Jl 161,750
= 24,260
Al 187,554
05 git?(& = 373,564 499,701 A126,137
OU=2=htE S4stAtY
323,500,000 323,500
7l 161,750




2A: HAIE
Zal: D10 AD| B2 =XMHIA KB
&l: OEaE Xg9Asl 28 KR (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 24,260
Al 137,490
OUI3ItE SHFHAII(AIBIEI)
50,064,000 50,064
ZE0I12T A2FASXA(=H]) 12,250 24,500 A12,250
J| 12,250
307 212+01 A 12,250 24,500 212,250
| 12,250
05 CIZtAEt 2 12,250 24,500 212,250
OZE0I0IX A2HL5HKIA(=8])
12,250,000 12,250
| 12,250
22BN HEH SAL S22 28,800 20,400 8,400
= 8,640
Al 20,160
301 LBENZ 28,800 20,400 8,400
& 8,640
Al 20,160
02 MBI EZASGS(HUAS, XLTHA) 28,800 20,400 8,400
OCUZNEXRME SAK E+2R2Y
28,800,000& 28,800
& 8,640
Al 20,160
CHE22E X2 EEH SAAE M4 | 11,400 10,200 1,200
= 11,400
301 LPENZ 11,400 10,200 1,200
& 11,400
P2 A BEHHZ(HAAHS, NYHA) 11,400 10,200 1,200
OUSRSIIIEXJAEE SAHKH HRI0A 8]
11,400,000 11,400
& 11,400
CI23PIE MEHE 29 1,770 8,850 AT7,080
T 1,770
307 212+01™ 1,770 8,850 AT7,080
& 1,770
05 QIZtRIEr S 1,770 8,850 AT7,080
OU=ReE MEHE 23
1,770,000& 1,770
& 1,770
ClEshelE 2= I 17,370 24,300 A\6,930
& 7,290
Al 10,080
307 212+01™ 17,370 24,300 26,930
& 7,290




SN OEIIED
3 JIE0| AD] £2 SAIMHIA JH3
&l: OEaE Xg9Asl 28 KR (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 10,080
05 QIZIRIErZ 17,370 24,300 6,930
ottzskelz 2= K& 17,370,000& 17,370
T 7,290
Al 10,080
ZE012A ASAJ () 46,200 54,200 8,000
= 10,840
Al 35,360
307 212+01 A 46,200 54,200 A8,000
& 10,840
Al 35,360
11 Al =SXAMEES 46,200 54,200 A8,000
OZE0|0I%} ALt wR(ZH])
46,200,000& 46,200
T 10,840
Al 35,360
SZYINH st=Atel BEXIR 14,000 14,000 0
= 2,800
Al 11,200
307 2I2+01A 14,000 14,000 0
& 2,800
Al 11,200
11 Al =SXAMEES 14,000 14,000 0
O=E23RY e=2Ae BHE K&
14,000,000& 14,000
T 2,800
Al 11,200
Ct23hts sorel2Y 4835 X 1,800 6,000 A4,200
= 1,800
307 212+01™ 1,800 6,000 A4,200
T 1,800
11 AR SXAMEER 1,800 6,000 24,200
OU=2etE s0te|2Y &85 XI#
1,800,000& 1,800
& 1,800
C23ts Xt ¢$2srsXl K 20,520 27,000 6,480
& 5,400
Al 15,120
301 LPENZ 20,520 27,000 6,480
& 5,400
Al 15,120
02 NBIEZASGS(HAAS, KLTHA) 20,520 27,000 6,480
OU=23t=E 4 H2stsAl K&
20,520,000 20,520

_21_




A o&IED
2 JIF0] &)] E2 SAAMEIA WS

Cel: GEsIE X9Ae Hg X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 5,400
Al 156,120
Ol==tid A4 &cl - d=2dg MblA X 5,086 7,266 22,180
307 2I2L0| A 5,086 7,266 A2,180
1 ABIZXIAEE 5,086 7,266 A2,180
OO0IZHZ HAE A2l - WA AHIA X
! 5,086,000& 5,086
CHEatEHl 30,000 15,000 15,000
307 212+01& 30,000 15,000 15,000
11 AMRISXAEEES 30,000 15,000 15,000
Ott=2zt=H 30,000,000& 30,000
=00l & O2etEXHE 2 29 5,500 6,000 2500
201 er23 | 5,500 6,000 A500
01 Al22t2lH] 1,900 2,400 A500
OQI=0IZED U UIREIISXIAEIS] 39|
SRS 1,900,000 1,900
02 S3=gHl 3,600 3,600 0
OXIU2TAIE YS! Sl
3,600,000& 3,600
2l=ol=al XI& 419,558 440,161 /20,603
< 49,300
Al 370,258
= QIFCIXAHE 29 254,350 216,198 38,152
307 elztol & 254,350 215,498 38,852
05 21t S 254,350 215,498 38,852
O=el=aX2dH 2|
254,350,000 254,350
Q=010 =0 uE 12,000 12,000 0
s 3,600
Al 8,400
307 212+01™ 12,000 12,000 0
[ 3,600
Al 8,400
05 2IZtAE = 12,000 12,000 0
ORIz BH20{NS X
12,000,000 12,000
= 3,600
Al 8,400
=0l 48Xd 46,000 46,000 0
=S 13,800
Al 32,200
307 21201 & 46,000 46,000 0
< 13,800
Al 32,200




SN OIS

2 JIF0] &)] E2 SAAMEIA WS

el 2A=el=el XA (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
05 2ItRIE = 46,000 46,000 0
O=el=xa g 46,000,000 46,000
= 13,800
Al 32,200
=S XME X2 23,330 23,330 0
s 7,000
Al 16,330
307 21201 & 23,330 23,330 0
< 7,000
Al 16,330
05 2ItRIE = 23,330 23,330 0
O2=2sXHE X 23,330,000 23,330
S 7,000
Al 16,330
=S XNHE SSHAE 32,673 50,000 A17,327
= 15,000
Al 17,673
307 @120l & 32,673 50,000 A17,327
s 15,000
Al 17,673
05 2IR”IRIE = 32,673 50,000 A7,327
O2I=eI=XME SAXA
32,673,000& 32,673
& 15,000
Al 17,673
Ne==2l QA S ?et Sty Olius 4,950 16,500 A 11,550
= 4,950
307 lztol & 4,950 16,500 A11,550
& 4,950
05 212+ =S 4,950 16,500 A11,550
OXIHZD QIAIIHS 93t 25ICI2A 0]
Hu= 4,950,000 4,950
< 4,950
Wel=010l E0ots 23t 48 T2 18 X& 2,550 18,333 15,783
=S 2,550
307 elztol & 2,550 18,333 A15,783
= 2,550
05 2IR”IRIE = 2,550 18,333 A15,783
Ouel=el0l Holotlz 23t A5 =2
A& 2,550,000& 2,550
S 2,550
ei=ol==al X3 33,105 43,000 9,895
307 212+01& 33,105 43,000 A9,89%

_23_




SN OIS

2 JIF0] &)] E2 SAAMEIA WS

el 2A=el=el XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
05 2ItRIE = 33,106 43,000 N9,8%
O=el=xa X 33,105,000& 33,106
=elsel 2gXE 8,000 10,000 /2,000
S 2,400
Al 5,600
301 EtE NS 8,000 10,000 /2,000
== 2,400
Al 5,600
02 ARSI 2E AT S(FANS, XNLETHE) 8,000 10,000 22,000
O2=oI=el 2IgXI& 8,000,000 8,000
< 2,400
Al 5,600
2I=eIFRl HEXe 2 2,600 4,800 A2,200
201 Ler23| 2,600 4,800 22,200
01 At2teltl 2,600 4,800 A2,200
ORI HEXIBIO &ASE
100,000 x 132 *23] 2,600
elHe s 4,300 22,660 18,360
D= MOOL =sst R EH FA 4,300 22,660 18,360
el Bt (e ¥ K& 4,300 22,660 18,360
201 er23 | 2,800 19,630 216,830
01 AlR 21| 2,800 15,660 A 12,860
OME - DBABITIHAS! 510] B
g 100,000 x 142 +23] 2,800
203 =4l 1,500 0 1,500
03 A=A PR FX| 1,500 0 1,500
Ool7ts g2 1,500,000& 1,500
HY2AIHI(HEIED) 300,318 268,372 31,946
= 73,800
Al 226,518
eIE =g 246,000 228,867 17,133
= 73,800
Al 172,200
HEEE 458 SSUSHA SAL 2+ 246,000 228,867 17,133
== 73,800
Al 172,200
101 e124d| 238,800 221,909 16,891
< 71,640
Al 167,160
02 JIEtM = 198,800 183,372 16,428
Ott=23| 28 AZFEEHS A 12|
189,500,000 189,500
= 56,850

_24_




SN OIEIIED
A HYRAZH(HLEIEL)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 132,650
ObtZ3s|2 8 AIZMEHEIIN 285
9,300,000& 9,300
< 2,790
Al 6,510
03 BRE (I )22 A2 40,000 38,537 1,463
Ovt2slYy B2 Y]
40,000,000& 40,000
= 12,000
Al 28,000
M HASFESS 7,200 6,958 242
< 2,160
Al 5,040
SRH(RIIAN)22X 2ERRES S 7,200 6,958 242
OHZBE 22X Paz U HANT
7,200,000 7,200
= 2,160
Al 5,040
Jl=23H| 54,318 39,506 14,813
JI23Hl 31,883 39,505 NT,622
201 fer=3| 16,283 16,331 A48
01 AtR2tc|HI 14,688 14,688 0
OfMEg0123I 14,688
—2ot=2H| 40,0002 x17E*12&+0.8 6,528
—=4| 50,0002 x17H*122+0.8 8,160
2 s5=34l 1,595 1,643 A48
OoRER3 547
—SJIfH 2,530 «80 203
—gpted 4302 80021 344
OXt& =Xl 1,048
—254l 288,000& 288
—28= 500,000 *1CH 500
— NS IHAl 100,000 *1CH 100
+=c/H| 160,000 1CH 160
202 04l 12,240 19,814 NT,574
01 =LHNHI 12,240 19,814 AT,574
Oge=dJI20H|
120,000 x172*122+0.5 12,240
203 HR=AY] 3,360 3,360
MU FA2SHIFLI 3,360 3,360
ORAMEZE =4
350,000& 122 +0.8 3,360
JlEZel(deigg) 22,435 0 22,435

_25_




AT HEIED
M BHSHA| (KIS
=l Jl=3H| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 10,915 10,915
01 At2teltl 10,368 10,368
ORNEgII123H 10,368
—2et=ZHl 40,0003+ 122 »122+0.8 4,608
—=4l 50,0003 *x12H+123+0.8 5,760
02 35244l 547 547
OoRER3 547
—SJ1d 2,530 +802 203
—aped 4302 800H 344
202 O4H| 8,640 8,640
01 2L AL 8,640 8,640
OgRFZ|=0|
120,000 x 122 *122+0.5 8,640
203 g4l 2,880 2,880
M EA2HER=AH 2,880 2,880
ORNEgeE =AY
300,000 *122+0.8 2,880




